;
i,

3
B
L

'h

h

0.

ﬁgv_@;&_ (B) 2835

C Pharmacist By Rx

Veto power is not possessed by in U.N. Security Council
(A) UK. (B) USA
(C) Russia (D) West Germany

UN. 50904 s16-20aui, A2 G4 sl wiad 12l waz 2l ?

(C) 22— (D) Wiy u-l &
gaba

Which of the follwing is not an agency of U.N.

(A) WHO (B) IMF

(C) Red Cross (D) FAO

A 4L 568 yrtioAl wiog-Al el ?

(A) WHO (B) IMF

(C) Red Cross (D) FAO

The most important small seale industry in India is
(A) Textile Industry (B) Paper Industry

(C) Handloom Industry (D) Jute Industry

A 2l Moyl ag Geley sal s

(A) stus Gailay (B) s12101 GewloL -
() drseg Gaalat- (D) 213t Gend

The plant important to sericulture is

(A) Pea (B) Legumes

(C) Mulberry (D) Cassia

390M GEIRUT 5Ul 918 WO o HEAAL ) 7

(A) q2u (B) 55101

(C) 4 uygfa'lm

Which of the following river is recharged by subsoil water ?
(A) Godavari (B) Damodar
(C) Narmada (D) Krishna
A sl 56 42l FHl wielld) (Baued (Recharged) 414 69 7

(A) el (B) IHIER

(C) -HEL (D) s

Which Country has written on their coins following. “This is the root causc of all evils”
(A) ltaly (B) Vatican City
(C) Cuba (D) Russia

st 2ot (2551 Uz ot dH 2R 0 97 d awg © 7

(A) el (B) al2s (42l

(C) 41 (D) A2

2023-D |
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* Which of the following has no skeleton at all ?

(A) Star Fish (B) Sponge
(C) Jelly Fish () Sityer Kish
Aaiell st sl el ?
(A) 2R Hedl (B) 2l
(©) 3 B (D) caz (32
Which animal can ereate the loudest sound among following ?
(A) Sperm whale (B) Gibbon
(C) Himpback whales (D) Howler Monkey
8. A WAL sy el Aiell Wizl stens 59 o 09 7
(A) 24 208 (B) Brewt
Qelubls we (D) ez a2
9. “Spermology™ is the study of
(A) Seeds (B) Leaf
(C) Fruits (D) Pollen Grains
9. “aulal” sun [auaHl vleay © 7
(A) ollor (B) ual
(C)smn (D) HRLA1E (Pollen grain)
10. The energy released by 1 gram of glucose is
(A) 3 Kea (B) 4 Kea
(C) 3 Kea (D) 6 Kcea
10. L u g sinHiEdl s2ell God wol 9 7
(A)3 Kea \o (B) 4 Kca
(C)3 Kea (D) 6 Kea
11. Who is the author of “Anandmath™,
(A) Rabindranath Tagore (B) Sarojini Nayadu
(C) Jyotiba Dhule (D) Bankim Chandra Chattopadyaya
11. “UE HE L AVEs 5101 Gl Y
—
AAy2{asa 2o (B) A1l ay
(C) wpuidlon 54 ) (D) 68l Mg Az q
12, __“Indiawinsfreedom™ is the autobiography of ? - )
(A) Abdul Kalam Azad (B) L.K. Advani
& (C) Rajendra Prasad (D) Subash Chandra Bose
e 12. “India wins Freedom™ 24 50l viense 69 7
(A) 04 5EH HINE (B) At 5. 23l
(C) A% UAIE (D) Herads: oils

MDPH - 2023 - D | 4
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" The purest form of iron is
(A) Wrought Iron
(C) Pig lron

lvis Al g 243 5497
(B) ¥4

(A) B3LAE Aivis

(B) Steel
(D) Nickel Steel

ey vuart () [sadla

MS-Word is an example of =

(A) An operating system (B)A processing device
(C) Application Software (D) An input device

4. MSWord e 4 GeweaaL 8.

@) »uz e Azn (B) viadloL Al

(C) sidlsat A5z (D) w5 B4z Gusel
— — e —

15. Ctrl, Shift, and Altarc called  Keys
(-:\:)71\1(’)diﬁcr '(_li)_Function
(€) Alphanumeric (D) Adjustment

15. Ctrl, Shift 2 Al s NIPREENCER
(A) ulss1a2 (B) §5U1
(C) s 1425 (D) HLsB22H~2

16. With which of the following was Satyajit Ray associated
(A) Commercial Art (B) Classical M usic
(C) Classical Dance (D) Direction of Films

16. Qi) #ead 2 56 et A Asouaa 8 U
(A) suallud 22 (B) guz-lla ol
(C) 2uzAdla 1 (D) (et (zant

17. M.S. Subalakshmi has distinguished herselfin the ficld of
(A) Kathak (B) Bharatnatyam
(C) Playing Violin (D) Vocal Music

17. i, i, goollanllzt suL A il sl o orndl 9 7
(A) 545 (13) A 1z
(C) adifa aousd (D) 2uaA

18. Which city is known as =City of Blood™ in India?
(A) Jaisalmar _ (B) Jodhpur
(C) Yavatmal (D) Tezpur

18. M2, 54 ad2 “City of Blood™ asls wioeia e 7
(A) BUAH2 (B) A4Y2
(C) ueetd (D) YR

N
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The world famons “Khajuraho™ sculptures are located in

(A) Maharashra (B) Gujarat

() Odisha (D) Madhya Pradesh

19. (e R g (Dt san 2ot snae ) 7

(A) M1z, (B) 9% 20t

(C) 2i8lau

(D)) 4 Uz
20. B.C. Roy Award is given in the ficld of
(A) Journalism (B) Medicine

(C) Music (D) Environment

20. B. C. Roy 24als 541 #A A4 2A50ne 69 7
_A_.;\l ASIRd (B) 2z
(C) =l (D) wuiazn
21 IFERANDLEE™ is coded as "\ ‘ll)f\'l".l,"‘llwn how “DISTANCE™ is coded ?
P}-Il)’l’s.\‘:\lf(' (B) IDTSNACT
(C) IDTSANEC (D) DISTANCE
21. A CHANDLE™ A dis(ds Al “ AHDNEL™ d<ls Qv dl=DISTANCE™ A 54 204 4via 7
(A) IDTSNAEC (B)Y IDTSNACE
(C) IDTSANEC (D) DISTANCE
22. Find the word that does not belong to group ot other three words.
(A) Tron - (B) Mercury
(C) Silver - (D) Gold -
22. st AL (Asau- A A 2eilHA A e dd 9o 2L,
(A) Avis ?(/m_luét
(C) Airl (D)
23. Find out the value at question mark
38% of 818~ 2 Y ol 636~ 1582 ==
(A) 12 (13) 36
(C)24 (D) 48 3
23, wa (2l st 9f (sHd vuae ?

38% of 818 — 2 % of 636 = I58.2

(A) 12 (B) 30
MDPH - 2023 -D | 0
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rage age of a man and his son is 44 years. The ratio of their ageis 3 1:13 respectively

son’s age ?

(A) 35 Years (B) 15 Years
(D) 26 Years :

A

(C€) 20 Years QU 5
N . I3 X 5% Y l: 3.' =
Sl et A Ayl udie GuR 44 o B, Rt 212 Al 23 Guarl el 31:13°%
Guz sedl sl ? = .
(A) 35 i _{})’\ﬁ an =
(C) 20 an (D) 2(3, B 2
k2 e i = o

Read statement : w

Select appropriate option as conclusion.
. = . N /\ oi ¥

Statement : Most of the politicians are liars. Harish tells lies.

(A) Harish is a Politician (B) Thos w ho donot tell lies are not Politicians.

& « . S « «

(C) Some politicians do not tell lies. (D) You can only benefit by telling lies.

(Gaud il
syt st Qsedmidl ulou [aseu ue 52U

—

(@ : Wlzieai sl ! éyg. olaa g ol 8.
A ulzu %500l 9. (B) % % ot el a2 s1zell L.

(C) s2cus 250l %5 ofledl Al

FIRTCE

(D) 3 o, oLl o s Hadl st B9

T it

20. Based on Statement & Assumption select correct iption :

Statement : Everybody loves reading adventure stories.
] Assumption : (1) Adventure stories are the only reading material
(2) Nobody loves reading any other material

(3) All are literate

e

(A) None is implicit (B) Only one and two arce implicit

(C) All are implicit (D) Only two and three are implicit
: 26, 5u ot vl sl diou s wals 3.
zl . ) c g [ Y . . 2 = ._
sut s 525 (5 s AUl Al Al . ko

i (1) Aes il & 5 aiat anll 9.

-

(2) siSust il olleo 165 2H2ll aizard 9 4l wrie sl

(3) ot o (Uld 8. —
(A) (1), (2), (3) A8t G . (B) 550 (1) 211 (2) A& 9.
7’2) oL % (1), (2) 24 (3) 2 8., (D) §5d (2) A (3) A& B,
PH - 2023 - D | 7
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28.

29.

29.

30.

30.

£

Find out H.C.M. of 360, 108 and 252

(A) 36 (B) 72
(C) 116 (D) 54
— v —
360, 108 244 252 Al 3 2020, 204
@& (B) 72
(C) 116 (D) 54

Seven bells ring atintervals of 2 minute, 3 minute, 4 minute, 6 minute, 8 minute, 9 minute and 12

minute respectively. They started ringing simultancously at 5.00 a.m. What will be the next time
when they all ring simultancously.

(A) 7.11 a.m. (B)6.12 a.m.

(C)6.10 a.m. (D) 5.13 a.m.

Uid sl s 2 (e, 3 (e, 4 (e, 6 (e, 8 Bz, 9 bz o3 (B s 4,
Bl Hz ol %3 5:00 a.m. Al Sisa WAl %3 54 ¢, ¢ 53 aud 203 wisaa ol G2 flu

a9 ? .
(A) 7.11 a.m. (B) 6.12 a.m.
(C)6.10 a.m. (D)S.13 a.m.

Complete the series by appropriate number at (?) mark.

2,9.28, 05, 126, 7

(A) 195 (1B) 199 ‘
(C) 208 (b)217

e (e Al ooz doy Hvar 3 Aol il sa.

2,9,28, 065,120, _7

(A) 195 (B) 199

(C) 208 (D) 217

Onc company sells one product at a profit of 20% and another at a loss of 20% at the same
selling price. What is the loss incurred by the company ?

(A) 1% (B) 2%
(C) 4% (D) No loss

a5 Sudl 215 GAne At 20% 51 8 2 oll% 20% 5t 2 25 uvfl dawe (Brd 42 9. dLsudld
524 qsut Ay ?

(A) 1% (B) 2%

(C) 4% (D) 519 45 4l
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(A) YR

(C) bl

Scleet proper word which

Cup : Saucer
(A) Fork
(C) Kitchen

St A 2oilEd sla dal 1oe e

:: Knife :

If third Monday of a particular month co
will come five times ?
(A) Friday

(C) Wednesday
A 16w AR Ao e (7L Al

Gl dl oL o Wt DAl ol (2ol PRED s ?

mes on 17th date then,

(B) Saturday
(D) Thursday

(1)l

(D) A2

is related to the pair given.

(B) Tray
(D) Vegetable

in the same month which da

—

¢ of her uncle. The boy is airl’s

91531 Al sLs Mﬁ‘lsﬂ%\ﬂ&zl 9. dl

(67

T~

9

- v &L

32.
su ol a2
(A) 5i2L (1B) 2 (2um)
(/(‘1,32{15, (D) WM
33. A girl introduced a boy as the son of the daughter of the fathe
(A) Brother (B) Son
(C) Uncle (D) Nephew
33. 515 9159 15 is2tll i A Ad 2l O 5 @
91520 6915w aL.
(AP (B) 4
(C) 5151 (D) #=llea
34. Rajan is sivth from the feft end and Vinay is tenth from the right end in a row of boys. If there
are cight boyvs between Rajan & Vinay, how many boys are in row
(A)23 (B) 25
(€) 26 (D) 24
30 izl A 2o st 930 65 2 ra s 93 BaHL 9. 7 AL i [ a3 s
9152 Gl dl ALSAHE A S2AL L5 9L e
(A) 23 (B) 25
(C) 26 Jn2 4
35. In how many different ways can the letters of we :
any ays i sletters of word *LEADING” be arranged in such a way the
the vowels always come together ? nget in such away thag
(A) 360 (13) 480
(C) 720 (D) 980
35, ‘LEADING® 9 tE A 20 3 o N \
g4l A el el Ad 2lsdl asia s 7l zazi duan 2is il wud ?
C)72
(/) 0 (D) 980
. SO A
MDPH - 2023 - D | :
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I person facing towards East, the shadow will be towards
{A) his right (B) his back
(C) his left (D) his front
A SIS el el d2g S 260 Gl dl AL WSl ...

() Al oraall eusg wsdl. ) Al sl owegal wsal. |
(C) d-ll 1ol euggad wsdl. (D) Al 2ud usal.

37. Based on statement and conclusion sclect appropriate option :

Statement @ - Some mobiles are pagers.
- No mobile is a laptop

Conclusions : - No laptop is pager.

11 - Some pagers ave definitely not mobiles

(A) Only I follows (B) Only 11 follows
(C) Neither I nor H follows (D) Both T and II follows
37. srt D (s 2R dlou [aseu yais 53, |
A BN

\

SAA: — $2Els HILUS A Ux2 6. ,
— 518 Hioudd auziu 4,
(Resw s 1 — 816 @uaiy uera el

11 = 5265 Ugal ALl Hious a4l v

(A) S5 1 244332 6. (336 5 11 244u3 69,
(C) T2Aadl I sU5uet 2241 . (DL 2 T 6{H 2443 69
o oL
|
38. The value of b !
(A)3 (B) 6 b

(©)9 A2 ‘;:

|
2\

38. The value of | 2167 - Al (53 = .
(A)3 (B) 6
©)9 (D) 12 B

 MDPH - 2023 - D | 10
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(A) 1

(€)5

()

Find the digit at the face opposite to the face having 6 in the given dice.

(1B3)3

(Dytord

2L WRALHL 7l 6 @vaL 6 d Lﬁi{lya&t) oo il S5 a?

(B)3

(D) 1 244413

< Y\

all letter have similar mivror image ?

(C)>
40. Which of the following english sm
(A)p (B)q
(O) t (D)
—— e
0. il sut visizm- et steaL (o0 sl 4 a3l ulalbo dav % »uas !
(A)p (Byq
(C)t (D)
41. Find the missing letter at 7 mark.
;‘J - . 5 2 e 7 +« 2 + U
X qp ¢ 3 e WG T
v U %ﬁ & , = X °
' O T n o+ b « 1
a L
(MU — N (B)V
(O)T 2 (D) X
41. e -l oot wedl »ae Hal
(A) U (B)V
(ON) (D) X

DPH -2023-D |
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Which of the following will come in place of the question mark ?
XVU, WUT, VTS, USR, _?_

(A) TSQ (B) SQP

(C) TVW (D) TRQ

42, uesiole AsllHi el gowist 9 2uqsi ?

XVU, WUT, VTS, USR, 2 ="~

(A) TSQ (B) SQP
(CO)TVW @) TRQ
43. If 2 is substracted from the middle digit of each of the given numbers, how many numbers thus

formed will be divisible by 3 ?

473 169 825 692 538

(A) One (B) Two
(C) Three (D) Four
43. 2l 20l £35 vl a2 2isuiEll 2 oue szl 2ud diAdl oAl d dvazisil szdl @
3 s ooll esiel 7 T B - :
473 169 $25 692 538 s e ST i
(A) 15 ’ (B) ¢l
C) A (D) 412 b
44 How many independent words can “HEARTLESS™ be divided in to without changing the order {

of the letters and using cach letter only once

(A)3 (13) 2
(C) 4 (D) > 1
44, ‘HEARTLESS " 9102 Midl AL $H oE @A (MU 241 225 221 5 5d 215 % 412 Guaia s34 seal |

—_—

2o 9105l oAl asi ?
A= (B)2
(C)4 (D) s
45. Chose the bestand most necessary alternative ;
A Hospital should never have

(A) Medicine (B) Doctor

(C) Dirt (D) Nurse
45. Al Grm 2t vt o 330 [Aseu ude 52l
&7 0 IR
sllFuaHi 52l ... 1 $lg AL,

(A) sl (B) $i522

Lo

(D) wRalzs

. MDPH-2023-D | 12




47.

47.

48.

48.

A 60 year old patient with anorexia, weakness, parasthesia and mental changes. His tongue was
red, tendon reflexes were diminished, haemoglobin was 6g% with large red cells and neutrophils

had hypersegemented nuclei. Endoscopy revealed atrophic gastritis. Deficiency of which factor
is likely to be responsible for his condition ?

(A) Folic Acid (B) Vitamin B12
(C) Vitamin Bo6 (D) Vitamin B2

60 allu £2l HellBH, Aoous, URzaHan vt Wireils §25130 Fdl dsdlsl a1 ez 2al 9. d-dl e
el edl, 2ugoiul uldlsa il as edl, Hizy 25a500 d2l sudu AU siuss “2nadu sl
Al Hb AL e 6g% odl imsizsidl @iz 22185 2218 A darl ver ufl edl. doad: saulandl
Guu d-fl Radl w2 gamez eidl adu ?

(A) sidls w1l (B) @zl B12

() [azidl4 Bo (D) (@214 B2

Which type of antimicrobial drug combination i1s most likcl_\-_mi.\;hihn.;muuymism ?
sl

(A) Bactericidal + Bactericidal
@ Bactericidal + Bacteriosatic for a highly sensitive organism

(C) Bactericidal + Bacteriostatic for a marginally sensitive organism

(D) B“““‘[i‘iﬁlﬁ““‘ + Bacteriostatic

SULUSIRAL 371[?2111%5 SN £ A Al 4y CRCTEITY wAUZ (antagonism) 2l 2054l & ?
(A) otsela s + ois2[3218 4

(B) ieid deeelld 2 w2 ss2fzazi(zs + ois2 s sa

(C) 12 Hasslla @y Wiz siszlzuize(zs + o523 44

(D) ois2fzanzelzs + oiszzuia(zg

As per Indian Pharmacopocia-2022, what is specification for solubility of sparingly soluble

compounds™——— tion for solub

(A) I'partin 1-10 parts of solvent (B) 1 partin 10 - 30 parts of solvent
IAparss 0f S0INEh
@l'l in 30 - 100 parts of solvent (D) 1 part in 100 - 1000 parts of solvent

tzdly siusidlue-2022 HEH HUHYAS gled (Sparingly soluble) Al il sleudt W12 g 2uélsel
CECTRITEA TR It

(A) alls Al 1-10 GHUHL T &L (B) %145 Al 10-30 GUAHE 1 ¢

(C) s1d5 i 30-100 HLUHI 1 oL (D) 41t i 100-1000 LA 1 HL2L

VIDPH - 2023 - D | 13
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Which of the following is a correct statement ?

(A) The solubility of a compound cannot be increased by cosolvency

F(B) Non-polar molecules have good aqueous solubility
(C) Weak clectrolytes have poor aqucous solubility
(D) Weak electrolytes have strong aqucous solubility

Qe 54 [t g 9 7
(A) dalortl sleudizd dugieudt (co-solvencey) G121 qaidl astdi A4l

(1) (it sl 2o adl 7elld steaduelu 9.

(C) ¥e Saszid e 24169 7 llu greudL 4214 9.

C@M’a Sasaiadza ay rdlu sleadl Hud 9.

An ostwald viscometer was used to measure viscosity of acetone.
- S oS ¢ e W inematic vicensity of ace »at 25°C.
25°C Tts density at 25°C is 0.788 g/em?. W hat is Kinematic s iscosity of acctone at 257C.

It was found to be 0.313 ¢p at

(A) 0.025 centi stokes (B) 0.295 centi stokes

(C) 5.26 centi stokes (D) 0.397 centi stokes

sl (B oHdL Miual 1 vlzass [@esiallzz (Ostwald viscometer) -l GUALL 524HE 24140 Gl

q EIE ! : 3 ~=0r us 33313 eSS
12500 42 0.313 ep el 7euy od. 25°C uz Al andn0.788 9/em? 9. 25°C uz sl 2l 210 142l
(32841 (Kinematic viscocity) s2dleal ?

(A) 0.025 centi stokes (B) 0.295 centi stokes

(C) 3.26 centi stokes (D) 0.397 centi stokes

- is uscd as indicator electrode in a redox titration.

() Platinum wire (B) Silver wire

(C) Glass clectrode (D) Mercury electrode

355U 2US2UAML ... HAL 95218 A5 GUULAHE QAT 214 4.
~— °
(A) @l auz (B) Bieaz quuz
(C) AA HA52LS (D) 1549l D5zl
]2
52. Vitamin K2 is found in - and also known as
(A) Animals, Menadione (B) Animals, Menaquinone =
A€) Plants, Menadione (D) Plants, Menaquinone
5. (el Kz U AU HUL Y DA A e dA=l5 usL vl 9.
(A) el HAdltiq (B) weellA, d-ilsaqiA
(C) artulaxil, Hdleii (D) artzuld, dulsani
MDPH - 2023 - D | 14
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Which of the following serves as major fuel source for the brain during prolonged starvation
- (A) Ketone bodies

(B) Fatty acids

(C) Amio acids (D) Glucose

il 9 alb_muuu—ti R ERAA M WS You opnq 28l qadld s 53 B ?

(A) Azt ety (B) 4 AAlasa

(D) 3451

(€) 20l 2
Which isomer of ibuprofen is more active »

(A)R (=) isomer (B) R (+) isomer

(9‘2“(—) iIsomer (D) S (+) isomer
ABAUE A 54 2 A2 2y ulsu D 7
(A) R (=) 20 Aim2 (B) R (+) 2085 AMz
(C) S () 205 HIH2 (D) S (+) 2 AN
Chemically nifedipine is

(A) L4 = dihydropyridine derivative (B) L4 - dihydvopyrimidine derivative
(C) 2,4 - dihydropyrimidine deriy atiy o (D) 204 - dibydropyridine derivative

o Aa sl 2

(A) 14 a0t §LE N gy (B) 1, st g (a2l ety

‘js.'{-lr-‘ s 4L (05 o g /«m Eas et oL (a4 M

50. Which of the tollowine schedule deals with standards o medical devices as per IMEII(l
Cosmetic et 1940 7 —_—
() Schedule M (BySchedule IR
‘é(-(') Schedule R1 (D) Schedule v
56. LA 51RR(2 5 2521940 400 AL 55 24434 (sehedule) 45060 B 52000 Hizull il 2{oil1d
09 7 " o ‘
(A) 2 (B) »A3y(4 R
(O) 2y R (D) A4
57.

Which of the following is not used as non-ageous vehicle for partenterals ?
(A) Dimethyl acetamide (B) Glycerin

(C) Isopropyl myristate (D) Liquid Paraffin

AA-unidl sy G-l Meas 92-2264 (parenterals) Hi2 Guarmidl daid 441 7
oy
(A) S B a ARz ¢ By faadl

(C) 2udS A a M2 (D) uadl Wzulz

15
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58. As per Indian Phar macopocia, ({,mlmﬂnl.llm-z\ iSused for tablets and capsules having
e — e S K

length :
(A) Not more than 18 mm
(B) More than 18 mm

_‘LC‘_) More than 10 mm but less than 28 mm

(D) More than 10 mm but less than 20 mm

58. aRdly szl Hu, M‘QQL(DT&lntcﬂmlemMm A) L Buaia
Al qut Sy w2 iy ) 7

(A) 18 {112l ay +dl ddl

(B) 18 {14l ay ¢y 44l

(€) 10 {1l 4y udg 28 Al 2419 iy AL
(D) 10 HHlell ay udq 20 {allel)l 20169 Giag A

dous) qtadl

59. Vineristine is a/an ?
(A) Tropane alkaloid (B) Quinoline alkaloid
(C) Steroidal alkaloid (D) Indole alkaloid
59. (A-gl2dlt 2 2is .. 6.
(A) 21U 241561 ¢ (B) [sattiell »uesesS ¢
(C) 22216 56 2u1e56i15 5 (D) S5 UEsAS 4
Pl R
60. Shinoda’s test is used for identification of
(A) Alkaloids (B) Tannins
(C) Flavonoids (D) Glveosides
60. (i3l 520441 Guegioy AL ationvg szan w2 gy o
(A) HIEsAlE 5 (B) 211y
Q) sddiie 5 (D) et siauss s
61. Microbiological assay for which of the mentioned antibioties can be done with the use of

staphylococcus aurcus 2
I¥Oxytetra Cyceline 2. Kanamycin 3. Teicoplanin el photericin B
(A) I and 2 (B)2and 3

(C) 1,2 and 3 /%U_H— 2and 4

0l. M&iﬁliqa (Staphylococeus aurcus)Hi Guyia) ['ﬂftfd[‘*{ft owl':{mvlwm?ﬂ sU1 W2
HIdsleudlcllon s ya oy (assay) 53 951y ?
—_ T T

L2Bd-22dsedlq 5. s Al eSsddqly oy w5243l
(A) 1 2442 (B) 2 244 3

(© 1,223 (D) 1,2 %44 4

16
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Identify a local anaesthetic agentwith vasocons(rictor effect

A) Procaine
(A) (B) Bupivacaine

T Lidocaine
(C) L (D) Cocaine

2B A2 222 By sy 2oy

qu:l ol 5 H"&d*ﬁ&?‘%t Geu=t 24| (local naaesthetic agent)
| (,\)u}\ii}i (1) opllen s+
s :
@ﬂﬁ& D A (D) 51565+
BCG vaccine contains — derived from
w‘i}c-nllcnlmlul strain, M. bovis -
(B) A live-attenuated strain, M. africanum
(O)A live-attenuated strain, M. tuberculosis
(D) A dead strain, M.avium
63.  BCGzalMi...... Al iy, ¥ HiEdl Gut s31mi vua 9,

(A) D [ U512 20y, Biq. ofidlx
(B) @ (AL Wzl sy, 4. »ubl54u
(€) 2 [N UERAT 2y, M gz sy il
(D) Hed U512l DA, 2, wilauy

64. Timsulnsin is used in treatment of ¢
(A) Pheochromacytoma

(B) Benign Prostatic hypertrophy

(C) Cardiac failure (D) Anaphylaxis

64. Tamsulosingl GWA2 ... Al Az a9,
(A) [BaAistHIAz ) AU (Benign) w5zl Wiz2 (25 winuz 218)
(C) &sudl (sl (D) s aAlsHA

63.

Sustained / Controlled release of oral dosage formiis appropriate for the following type of drug :

———

(A) An anti-arthritie drug with a plasma t; 5 of 24 hrs,
(B) A sleep inducing hypnotic with a plasma ty; of 2 hrs.
(C) An anti-hypertensive with a plasma ty; of 3 hirs.
(D) An analoesic with a plasma t, of 0 hrs. usced for relief of msuu»ljg:uluchc.
05. Add |/ ['l:i'filft il&;%d adl HU alzl Aari iadl £ail G 243y (sustained / controlled release

oral dosage form) Al usizdl 2a MERNEORTXS

?(A_) silan vz Guaioll sat %l 3(42 2uHi 1y, 24 5415 2}
(B) Algt lzd gz Guacll diidls sa Al 34z UMl 1, 2 ses 6.

(C) sruz-aui Guaiol ean L 342 2, 3 540 6.

(D) Ami-a ML e Guatll £aaus e L 3l 2 1 0 545 6.

' 17 P.T.O.
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67.

68.

68.

69.

66.

67.

Weakly acidic drugs :
(A) Are bound primarily to o< acid glycoprotein in plasma
(B) Are excreted faster in alkaline urine

(C) Are highly ionized in the gastric juice

ﬁ) Do not cross blood brain barrier

He vl s st i
(A) 3(82 2w Yo o, 2121 SHIASIMEAL A A ASIAA LU .

(B) 2csatsS 4 QauotHi »suedl [auegd a6,
(C) %52 LAMI WOt % 205 2S (ionized) ¢l 8.

(D) &-HAF 24214 (blood brain barricr) 4wz 5290 dl

"hi . below mentioned part is stimulated by morphine.
Which of the below mentioned parti lllly_lll_l_c’(_l)i_d_J_

[ —
(B) Temperature regulating centre

9 Vasomotor centre

(C) Edinger westphal nucleus (D) Cough Centre

A-unil sur o HislA Gaood 52 69 7

(A) AAHIZ2 55 (B) dtudtt (a5
(C) #1572 dzez14 »ysaun (D) G4 5%

What proportion of NaCl liquid is required to ;:i\‘_c__l:il solution of a drug isotonic with blood

"

plasma ? (The freezing point of 1% — solution of drug is —0.122 and NaClis —0.576°C)
—_— 1
(A) 0.79% (B) 0.583%

(C) 0.9%
3[4z 23 Huais 2g 215 2l 1.5% Sl stAad M2 NaCluaidl 524w a

(D) 0.5%
a1 ?

W . . . . . -
(1% L el g Al dly —0.122 44 NaCl 4 -0.576°C ©9.)

(A) 0.79% (B) 0.585%

(C) 0.9% (D) 0.5%

Nuclear magnetic moment is NOT shown by :
(A) 13C (B) 'H
(C) "0
4542 HoA[25 HH ........ g12L ot 2uadl 4L,
(A) 3C 3 'H
(D) 5N

(D) N

(C) 160

18
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Which of the following compound has the highest & 2

(A) Methyliodide (B) Methyl chloride
(C) 'l_'['_i(!‘,[':‘ll'.l_lhlllllim' (D) Methyl alcohol
Qi san 2iulo i A Y A O ? At T

LLLERY i
(A) Brus e vuadiag g AB) e seians s
() 28R i (D) s a suesicia

S BEIRE] 3@;@_@_@_33_&?

71. .
& 1. widlRsd 2. wildgle RO\ P F
A a2 (B) 2 244 3
(C) 1213 (D) 1,2 214 3
72, A SR A A Garsail oAl WAL 56 ol wilou ) 7
— v - E
Q (-'\)_@ﬁiliﬁ_'“‘* — AeM — (B) calsdaas 1 — [ewau - -
(C) seqdlas H — AWld (D) Haads AH — 2606
ENEN N N - —
73. Al 2t At usAl 6 o d) wisu e 7
< —_—
[, 2Uld2 — 240 + 2{d2 = 23 4[Q
~ 20 t)
9 2. 4RHMR — UM + 902 = (aodlu B o
3.0 WU — UM+ s = dore il -
(A) 1204 2 U2 89 (B) 2 244 3 41°U 9.
(SIELCRIDIECETS Wb{:{ 30U 8.
74. Al oontAl 65 o dl alou A4l ?
wbl[r{m — Yzl 1)l = 2[4

(C) st — [552 (D) 4s — (s

75. [Qzgrell 20ai-l 56 A él uea 4l ?

ol . N N
(A ales — wuHlins (B) s50Al — sl

(C) 5l — gadl (D) &les — eioR

G201 5 dvl- AL U U8l 2 vl el adl 56 adl aou el ?
UBL A"

70.
"ol S
(A) 2l — Al # (81 — [axn (B)wwell — o # el = v
B M Y — 24 Dyl — vueudl arell # il — Rl
7. sla e Adlwsr” 56 Adluin A4l ?

(B) 2l BiRaRe — swea =
———

@ FAURHAR — A%
‘_/_’_—-7‘

(A) et wet MU — UE

(C) 619 s dldl Qopufl 2 — ﬂaaﬂd,/

e AR
19
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Aws 24 daii-l 5l Nl

dws 54
1. Gausis2 - a. wtfdey
2. »azde qasll b. [Aysl
3 ¥ s - e el
4 AU Wes - d. »iddla
ALl -2, 2-b, 3-¢, 4-d @l-b,Z—c.3-d.4-=l
(C)l-c¢,2-d, 3-a,4-b (D)1-d, 2-a, 3-b, 4-¢
79 UORAH ME FHU A s e Az sHiEl A AEA B, Bl A S8 ]
(A) AAIHEL 6ll52 B)E AUz
(C) 4¥3q (D) udlel £z
80, dvsl v Al s[4l 5 ﬁm?
(A) st Yl — y3ez yamra LBl pre = edl g
(C) “Usis2 Al — Bz (D) s 22 — yaadiyz

SI. “UCEHHE HIEHL B Aoe ] £ m@@
(A) BUsI2 U2 U512 53412 — SEEYEIL
(B) AN 48t usal s AS Ag A — [Heladis—
(C) *ulatl Gk wdddl s 93 4 — aigs

(D) Bzl 5154 — [Bau] -

8. A Fsllod U4 56 shoull il 9
() Al (B) Hed
Juie] w4 (D)rﬂ‘?ﬂ[\z Sy
83. “eant (4 (#mq 1 51280 %Al 3167 t2U0F 2 AL 2] mﬂb{mnﬂ 5% 2l iy o) 7
(A) e~ Ll # "y = salgl (B) 2y — flamid 4 g — qus

(C) 2UH — QA 20 # gy — g3 W — Glue 2 iE
W = ddAeq 20 # 4y — sz Pl — Glawsl] Al = Sz e
84. A 3leuaiod yaal -
I AU — v oyBge]] 2
2. AU 7q — yudl %q

(A) HIA 1 4oy 59, (B) M= 2 oy ¢9
)%‘4 21 2 6{ Yioy 2] (D) 124 2 o{ oy 59
p)_PH -2023-D | 20 [Contd
& On -
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1. virai WO pladl — 2pd 2dd

5. vinEe g — 2l enond sl

M/»ﬂ/z o{d uou 9. (B) 1 21 2 6Pt alon Al

(©)Hl i 8. (1) A 2 42U 69,
Rewrite the sentence by appropriate meaningful arrangement : “A large |)‘.\|):)_\j|l'.ll tummy
has!” -
(A) Papa has a what tummy large! Mh’m a papa has large tummy!
(C) Whata large tummy papa has! (D) What large tummy a papa has!
§7. There are aas refills still left here.
(A) alittle (B) little
(C) few (D) a few
$8. Identify the ﬁ_::’,llﬂ-_‘__iliipucch s “lenorance iﬁ (I(Elh. Imn—\/\‘l_nﬂggﬁ life.”
0 Metaphor (1B) Antithesis
(C) Oxymoron (D) Simile
9. Which pll:’l"l/&/iiuscd to explain a group of Eight things 2
(A) Hepta (B) Octo
(C) Nona (D) Deca
- g -
9(. Choose the correct question tag - I'he dog (Li(ll}‘,l cal hiE dinner, .
(A) didn’tit? (B) catit?
__LC..) does it? (D) did 1t?
91. Find out incorrectsentence.
@/\rli is living far away with India. » (B) 1 do believe it’s her hard work.
(C) The dog is wany ing ity tail. (D) Hari never went into the city.
92. Complete the sentence using appropriate option : | managcd tygeta visa, but it was difficult. 1
o : - N —_—
had difficulty .
(A) in getting visa @ getvisa
(C) getting 2 visa Q)) for getting a visa
93 Use the word given i he bracketand rey vite sentence @ Lean help vou (probably).
¢ ! rd given in the brac et anc u:_\___td.______‘ P I \
-— L / — —

(B) I'can probably help you.

@l can help you probably.

(C) I can help pml)ul)ly you. (D) I probably can help you.

rh of underlined word : The sun shines C\'crzwhcrc)

[dentify the adye
(B) Adverb of frequency

(A) Adverb of time

ﬁ?A(Ivcrl) of place
;

IR =,
21

(D) None of the above
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9S. Seleet the corvect arpangement to make ; oy
(2) / bike (3) / the most heautiful (4)” Fralls

(A)2,3,1,4 (B)1,3,4,2

(C)3. 4.2, 1 —dd) 4,3,2,1 - e : L
96. Which of the following is not a synonym uffkcfusa"

(A) Veto - Jl_]z(;rant .

(C) Withhold (D) Deny
97, Sonu Nigam is in(crcs@ singing,

T R (B) of

\i'lt) to (D) for
98. Change the speech into indirect speech : Bh:n'inLﬁu_iLl to I‘I_l:'_l;leili'h(‘r.:(—i)()_(_’ morning.”

— L

H)’Bll:ly'ini wished her teacher good morning.
(B) Bhavini told her teacher good morming.
(C) Bhavini asked her teacher good morning.

(D) Good morning was wished by Bhavini to her teacher. »

99. Identify one of the parts of speech from given options.
B ————— ——

Lé,) Pronoun (B) Participle

(C) Gerund (D) Intersections
100. - Eﬁ )@l (:_:il. o []u_ngpr\} ou live.”

(IR a (B) A, the

(C) The. a (D) The, the

-

Rx D
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